
pauli1 = 880, 1<, 81, 0<<880, 1<, 81, 0<<
pauli2 = 880, I<, 8-I, 0<<880, ä<, 8-ä, 0<<
pauli3 = 881, 0<, 80, -1<<881, 0<, 80, -1<<
asigma1 = ax pauli1 + ay pauli2 + az pauli388az, ax + ä ay<, 8ax - ä ay, -az<<
asigma2 = bx pauli1 + by pauli2 + bz pauli388bz, bx + ä by<, 8bx - ä by, -bz<<
bellexpect = Expand@1ê2 H81, 0<.asigma1.881<, 80<< 80, 1<.asigma2.880<, 81<< +81, 0<.asigma2.881<, 80<< 80, 1<.asigma1.880<, 81<< -80, 1<.asigma1.881<, 80<< 81, 0<.asigma2.880<, 81<< -81, 0<.asigma1.880<, 81<< 80, 1<.asigma2.881<, 80<<LD8-ax bx - ay by - az bz<
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